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STATISTICAL ANALYSIS 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- lkaf[;dh dh ifjHkk”kk nhft,A lkaf[;dh dh lhek,¡ crkrs gq, 

orZeku le; esa lkaf[;dh ds egRo dks le>kb;sA 

Give a proper definition of Statistics. Explain limitations 

of Statistics and discuss the importance of Statistics in the 

present time. 
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vFkokvFkokvFkokvFkok    
(Or) 

lkaf[;dh esa vfo’okl ds D;k dkj.k gSa \ vfo’okl mRiUu 
djus okyh v’kqf);ksa ds lzksrksa dks crkb;sA vfo’okl nwj djus 
ds mik; crkb;sA 
What are the causes of distrust in Statistics ? Point out the 

sources of errors causing distrust. Suggest remedies for 

removing distrust. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- fuEufyf[kr vk¡dM+ksa ls izeki fopyu rFkk fopj.k xq.kkad 
ifjdfyr dhft, % 

ewY; ewY; ewY; ewY; ¼¼¼¼ls vf/kdls vf/kdls vf/kdls vf/kd½½½½    vko`fŸkvko`fŸkvko`fŸkvko`fŸk    
70 7 

60 18 

50 40 

40 40 

30 63 

20 65 

Calculate standard deviation and co-efficient of variation 

from the following data : 

Value (more than) Frequency 

70 7 

60 18 

50 40 

40 40 

30 63 

20 65 
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vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr lkj.kh esa dqy tula[;k rFkk muesa va/kksa dh la[;k 
dk forj.k fn;k x;k gSA ;fn vk;q rFkk vU/ksiu esa fdlh izdkj 
dk lEcU/k gks rks Kkr dhft, % 

vk;qvk;qvk;qvk;q    tula[;k ¼tula[;k ¼tula[;k ¼tula[;k ¼****000½000½000½000½    va/kksa dh la[;kva/kksa dh la[;kva/kksa dh la[;kva/kksa dh la[;k    

0—10 150 90 

10—20 90 63 

20—30 50 50 

30—40 32 40 

40—50 20 30 

50—60 12 30 

60—70 5 20 

70—80 2 12 

The following table gives the distribution of the total 

population and those who are blind among them. Find out 

if there is any relation between age and blindness : 

Age Population (’000) No. of Blinds 

0—10 150 90 

10—20 90 63 

20—30 50 50 

30—40 32 40 

40—50 20 30 

50—60 12 30 

60—70 5 20 

70—80 2 12 
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ,d d{kk esa 10 yM+ds vkSj 20 yM+fd;k¡ gSa ftuesa ls vk/ks yM+ds 
vkSj vk/kh yM+fd;ksa dh vk¡[kas uhyh gSaA d{kk esa ls ,d izfrfuf/k 
dk p;u nSo fun’kZu i)fr ls fd;k x;kA bl ckr dh D;k 
laHkkouk gS fd og yM+dk gS ;k fd mldh vk¡[ksa uhyh gSa \ 
There are 10 boys and 20 girls in a class, in which half 

boys and half girls have blue eyes. One representative is 

selected at random from the class. What is the probability 

that he is a boy or his eyes are blue ? 

vFkokvFkokvFkokvFkok    
(Or) 

,d fo’ofo|ky; dks 50 O;fDr;ksa dh lwph esa ls ftuesa 
20 efgyk,¡ vkSj 30 iq#”k gSa] ,d ijh{kd dk p;u djuk gSA 
buesa ls 10 fgUnh tkurs gSa vkSj 40 ughaA buesa ls 15 izk/;kid 
gSa vkSj ‘ks”k 35 ugha gSaA D;k izkf;drk gS fd fo’ofo|ky; ,d 
fgUnh tkuus okyh L=h izk/;kid dk p;u djsxk \ 
A university has to select a examiner from a list of 

50 persons 20 of them are women and 30 are men; 10 of 

them know Hindi and 40 do not; 15 of them are teachers 

and remaining 35 are not. What is the probability that 

university will select a Hindi knowing women teacher ? 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- vfuf’prrk dh fLFkfr ds vUrxZr fu.kZ; ekin.M fu.kZ;drkZ ds 
n`f”Vdks.k o vfHker ls fu/kkZfjr gksrs gSaAÞ Li”V dhft,A 

“Decision criteria under situation of uncertainty are 

governed by the attitude of the decision maker ? Explain. 
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vFkokvFkokvFkokvFkok    
(Or) 

1000 firkvksa ds v/;;u esa ;g ik;k x;k fd 12-9% dkys jax 

dh vk¡[kksa okys gSa ftuesa ls dkys jax dh vk¡[kksa okys iq=ksa ds 

firkvksa rFkk xSj&dkys jax dh vk¡[kksa okys iq=ksa ds firkvksa dk 

vuqikr 1 % 1-58 FkkA xSj&dkyh vk¡[kksa okys firkvksa rFkk iq=ksa 

dh la[;k 782 FkhA firk rFkk iq=ksa dh vk¡[kksa ds jax esa xq.k 

lEcU/k xq.kkad Kkr dhft,A vko`fŸk;k¡ Kkr dhft, ;g ekurs 

gq, fd iSr`d xq.k lEcU/k ugha gSA 

A group of 1000 fathers was studied and it was found that 

12.9 percent had dark eyes, among them the ratio of those 

having song with dark eyes to those having sons with not 

dark eyes was 1 : 1.58. The number of cases where fathers 

and sons both did not have dark eyes was 782. Calculate a 

co-efficient of association between darkness of eye-colour 

in father and son. Give the frequency that would have 

been observed had there been completely no heredity. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- lkaf[;dh; fdLe fu;U=.k ls vki D;k le>rs gSa \ bldh 

vko’;drk ,oa mi;ksfxrk dh foospuk dhft,A 

What do you understand by statistical quality control ? 

Discuss its need and utility. 
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vFkokvFkokvFkokvFkok    
(Or) 

28 o”kZ ds vk;q ds O;fDr ds fy, izhfe;e Kkr dhft, % 

vk;qvk;qvk;qvk;q    izhfe;eizhfe;eizhfe;eizhfe;e (`̀̀̀) 

25 23 

30 26 

35 30 

40 35 

45 42 

50 51 

Find the premium payable by a person of age 28 years : 

Age Premium (`̀̀̀) 

25 23 

30 26 

35 30 

40 35 

45 42 

50 51 
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